Roden et al.

w ccr2:luc (photons. 10 min™. seedling™)

& ccr2:luc (photons. 10 min™. seedling™)

[ |

]
10000

200000
T=16 hr
100000 A T 5000
0 0
0 6 32 48 64
— mmw
500000 1 20000
T=20 hr
400000 A 1 15000
300000
I 10000
200000 -
T 5000
100000 A
0 1 1 t +0
0 20 40 60 80
[ I
500000 T 20000
T=24 hr
400000 4 15000
300000 1
r 10000
200000 1
T 5000
100000 1
O T T 0
0 24 48 72 96
— |
200000 T/ 20000
150000 A I 15000
100000 A I 10000
50000 1 - 5000
0 t t 1 0
0 28 56 84 112
I
500000 T——— 10000
T=32hr
400000 - T 8000
300000 1 T 6000
200000 - T 4000
100000 A T 2000
0 0
0 128

Time (hours)

Ihy::luc (photons. 10 min™. seedling™)

R

i+ Ihy::luc (photons. 10 min™. seedling™)



